—ABAEOMNE 4 0 OEEEOLEL
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sin(6 + 2nw) =sinf cos(6 + 2nw) = cos@ tan(6 + 2nrw) = tanb

2 —0 O=AEEK

sin(—0) = —sin6 cos(—6) = cosf tan(—0) = —tan6

3 0+n O=AEK

sin(@ + m) = —sinf cos(@ +m) = —cosf tan(f + ) =tanbh
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sin(9+g)=cost9 cos(9+g)=—sin9 tan(9+g)=—ta1119

LD ao%HES Z ik o T, A EDANOEE 0 Of%E, F 1 REBO=ABKOM
WCHETZ ENTEXET,

0>2r DEXT1%2H-T 0<0<2m ITEHLET,

il '25-'(”+2x2)— in_ =
51n67'[—51n6 7r—51n6—

ADOADE XL, 2% TIEOMICER L £,

15 gq_%gz_mgz

n<e<%hnggm 3 %o TR AR L

T (T T
151 sm—n—sm(g+7r)——smg—

%<9<n®k%m 4 % 0H > THAAITISR U E T,

) 2 T T
151 singn = sin(g+5) =cos £ =

ik

Kar?



